On M-Fuzzy Cosets, M-Conjugate of M-Upper Fuzzy Subgroups over M-Groups

Mourad Oqla Massa'deh

Science Applied Department, Ajloun University College, Al-Balqa' Applied University, Ajloun, Hashemite Kingdom of Jordan E-mail:moradoqla2000@yahoo.com

Abstract

This paper contains some definitions and results of the types of m- fuzzy cosets of a m- groups and m - conjugate upper fuzzy subgroups of a m - groups. Using m - upper normal fuzzy subgroups, m - conjugate upper fuzzy subgroups and upper fuzzy level subset in the types of m -fuzzy coset of a m - groups is studied. Some properties and corollaries are also established and discussed for this subject.

Keywords: Fuzzy Sets; Positive Fuzzy Subsets; Upper Fuzzy Level Subset; M-Upper Fuzzy Subgroups; M – Upper Normal Fuzzy Subgroups; M – Fuzzy Coset; M- Positive Fuzzy Coset; M- Double Fuzzy Coset; M – Positive Double Fuzzy Coset; M- Conjugate Upper Fuzzy Subgroups.

2000 Mathematical Subject Classification: 22F05, 06F10.

Introduction

The concept of fuzzy sets was initiated by Zadeh [16]. Then it has become a vigorous area of research in analysis, topology, probability, statistic and measure theory etc. In [13] Rosenfeld used this concept to develop the theory of fuzzy groups. In fact, many basic properties in group theory are found to be carried over to fuzzy groups. Aktas and Cagman [1] studied the product of fuzzy subgroups and t – level subgroup. [2] Aktas discussed fuzzy quotient groups. Several mathematicians have followed the Rosenfeld approach in investigating the fuzzy subgroup theory. Fuzzy normal subgroups were studied by Wu [15] Kumar [7]. The concept of upper Q- fuzzy index order with upper Q – fuzzy subgroups studied by Nagarajan and Solairajn [4,9] a fuzzy subgroups of finite abelian groups, fuzzy subgroups of finite cyclic groups and fuzzy subgroup of symmetric groups S₂, S₃ and alternating group A₄ was studied by

some authors [11,14,12], N.Jacobson [5] introduced the concept of m – groups, m – subgroups. Some authors [3, 6, 8, 10] discussed the homomorphism and anti – homomorphism of fuzzy subgroups and give some properties for this subject.

In this work, we first generalize the definition of fuzzy cosets and its types over group to fuzzy cosets over m – groups by using the definition of m – upper fuzzy subgroups. Then we study some of their properties.

Preliminary

Definition2.1 [8] Let G be a group, M be a set, if

- 1. $mx \in G \ \forall \ x \in G$, $m \in M$
- 2. $m(xy) = (mx)y = x(my) \forall x, y \in G, m \in M$. Then m is said to be a left operator of G, M is said to be a left operator set of G. G is said to be a group with operators. We use phrase "G is an m group" in stead of a group with operators. If a subgroup of m group G is also M-group, then it is said to be an m subgroup of G.

Defintion2.2 Let μ be a fuzzy subset of X. for $t \in [0, 1]$ the upper level subset of μ is the set $\mu_t = \{x \in X, \mu(x) \le t\}$.this is called an upper fuzzy level subset of μ .

Definition 2.3 [16] Let X be a non empty set, a fuzzy set μ is just a function from X onto [0, 1].

Definition2.4 [16] A fuzzy set μ on X is called positive fuzzy set if $\mu(x) > 0 \ \forall \ x \in X$.

Definition2.5 Let G be a m – group. A fuzzy subset of G is said to be an m – upper fuzzy subgroup of G if it satisfies the following conditions:-

- 1. $\mu(mxy) \le max \{\mu(x), \mu(y)\}$
- 2. $\mu(x^{-1}) \le \mu(x)$; $\forall x, y \in G$.

Definition2.6 Let G be a m – group. A fuzzy subset μ of G is said to be m – upper fuzzy subgroup of G if μ (mxy⁻¹) \leq max { μ (x), μ (y)}.

For all $x, y \in G$.

Definition2.7 Let μ be an m – upper fuzzy subgroup of a m – group G and H = { x ∈ G ; μ (x) = μ (e) }. Then O (μ) order of μ is defined as O (μ) = O (H).

Proposition2.8 H = $\{x \in G ; \mu (x) = \mu (e) \}$ is m – subgroup when μ is an m – upper fuzzy subgroup.

Definition 2.9 Let G be a m – Group: An m – upper fuzzy Subgroup μ of G is said to be m – upper normal fuzzy subgroup of G if μ (xy)

$$= \mu$$
 (yx) for all x ,y \in G.

M – Conjugate and Types of M – Fuzzy Cosets

Definition3.1 Let μ , δ be two m –upper fuzzy subgroups of m – group G. Then μ , δ are said to be m – conjugate upper fuzzy subgroups of G if for some $g \in G$,

$$\mu(x) = \delta(g^{-1}x g)$$
 for every $x \in G$.

Proposition3.2 If μ , δ are two fuzzy subset of abelian m –group G, then μ , δ are conjugate fuzzy subsets of G iff $\mu = \delta$.

Proof: Straightforward.

Proposition3.3 If μ , δ are m – conjugate upper fuzzy subgroups of m – group G, then O (μ) = O (δ).

Proof: Straightforward.

Theorem3.4 Let μ be m – upper fuzzy subgroup of a m – group G and δ be a fuzzy subset of G, if μ and δ are conjugate fuzzy subset of G. Then δ is m – conjugate upper fuzzy subgroup of a m – group G.

Proof

Let μ be m – upper fuzzy subgroup of a m – group G and δ be a fuzzy subset of G and let μ and δ are conjugate fuzzy subset of G, we need to prove δ is m – conjugate upper fuzzy subgroup of a m – group G. Let x, $y \in G$ and $m \in M$, then $mxy^{-1} \in G$

```
\begin{split} \delta \ (\ mxy^{\text{-1}}) &= \mu \ (\ mg^{\text{-1}}xy^{\text{-1}}g) \ \text{for some } g {\in} G \\ &= \mu \ (\ mg^{\text{-1}}xgg^{\text{-1}}y^{\text{-1}}g) \\ &= \mu ((\ mg^{\text{-1}}xg) \ (g^{\text{-1}}y^{\text{-1}}g)) \\ &= \mu ((\ mg^{\text{-1}}xg) \ (g^{\text{-1}}yg)^{\text{-1}}) \\ &\leq max \{ \mu \ (g^{\text{-1}}xg), \ \mu \ (g^{\text{-1}}yg)^{\text{-1}} \} \\ &\leq max \{ \mu \ (g^{\text{-1}}xg), \ \mu \ (g^{\text{-1}}yg) \} \end{split}
```

Since μ is m – upper fuzzy subgroup of G.

 $\leq \max \{\delta(x), \delta(y)\}$

 μ and δ are conjugate fuzzy subset of G, therefore δ (mxy⁻¹) \leq

max $\{\delta$ (x) , δ (y) $\}$. Hence δ is m – conjugate upper fuzzy subgroup of a m – group G.

Definition 3.5 Let μ is an m – upper fuzzy subgroup of a m – group G. For any $a \in G$,

aµ defined by (aµ) (x) = μ (a ^{-1}x) for every $x \in G$ is called m- fuzzy coset of the m- group G.

Lemma3.6 If μ is m – upper fuzzy subgroup of m – group G, then μ (e) $\leq \mu$ (x) for every $x \in G$.

Proposition3.7 If μ is m – upper normal fuzzy subgroup of a m – group G, then the set $G / \mu = \{a \ \mu : a \in G\}$ is m – group with operation $(a \ \mu) (b \ \mu) = (ab) \mu$.

Proof

Let a , $b\in G,$ a μ , b $\mu\in$

 $G \, / \, \mu$. It's clear that $b^{\text{-}1} \in G$ thus

$$b^{\text{--}1}\mu \in G \, / \, \mu$$
 , (a μ) ($b^{\text{--}1} \, \mu$) =

($ab^{\text{-}1}$) \in G / μ . Therefore G / μ is a m – group, we get (G / μ , .) is called the m – fuzzy factor group of G with $\mu.$

Theorem3.8 Let μ be m-upper fuzzy subgroup of a m-group G. Then a $\mu=b\mu$ for any $a,\,b\in G$ iff

$$\mu(a^{-1}b) = \mu(b^{-1}a) = \mu(e).$$

Proof

 \Rightarrow Let μ be m – upper fuzzy subgroup of m – group G, let a μ = b μ for any a, b \in G. Then (a μ)(a) = (b μ) (a) and (a μ)(b) = (b μ)(b)

Thus μ ($a^{-1}a$) = μ ($b^{-1}a$) and μ ($a^{-1}b$) = μ ($b^{-1}b$), hence μ (e) = μ ($b^{-1}a$) and μ ($a^{-1}b$) = μ (e). Therefore μ ($a^{-1}b$) = μ (e).

 \Leftarrow Suppose μ ($a^{-1}b$) = μ ($b^{-1}a$) = μ (e) for any $a,b \in G$, for every $g \in G$ and we have

$$a\mu (g) = \mu (a^{-1}g)$$

$$= \mu (a^{-1}bb^{-1}g)$$

$$\leq \max \{\mu (a^{-1}b), \mu (b^{-1}g)\}$$

$$\leq \max \{\mu (e), \mu (b^{-1}g)\}$$

$$= \mu (b^{-1}g)$$

$$= b\mu (g).$$

Thus $a\mu$ (g) $\leq b\mu$ (g)....(i)

On the other hand

$$b\mu (g) = \mu (b^{-1}g)$$

$$= \mu (b^{-1}aa^{-1}g)$$

$$\leq \max \{\mu (b^{-1}a), \mu (a^{-1}g)\}$$

$$\leq \max \{\mu (e), \mu (a^{-1}g)\}$$

$$= \mu (a^{-1}g)$$

$$= a\mu (g).$$
Thus $b\mu (g) \leq a\mu (g)....(ii)$
By (i) and (ii) we get $a\mu (g) = b\mu (g)$, hence $a\mu = b\mu$.

Theorem3.9 Let μ be m- upper fuzzy subgroup of a m- group G and $a\mu=b\mu$ for a, $b\in G.$ Then

$$\mu$$
 (a) = μ (b).

Proof: Straightforward.

Theorem3.10 Let μ be m – upper fuzzy subgroup of a m – group G. Then a μ_t = $b\mu_t$ for any $a,b\in G$ - μ_t

Then
$$\mu$$
 (a) = μ (b).

Proof

Let μ be $m-upper fuzzy subgroup of <math display="inline">m-group \ G,$ let a μ_t = $b\mu_t$ for any a, $b\in G$ - μ_t , $t\in$

[0,1] but
$$b^{-1}a$$
 and $a^{-1}b \in \mu_t$
 $\mu(a) = \mu(bb^{-1}a)$
 $\leq \max \{ \mu(b), \mu(b^{-1}a) \}$
 $= \max \{ \mu(b), \mu(e) \}$
 $= \mu(b), by Lemma 3.6$

Thus
$$\mu$$
 (a) \leq μ (b) and

$$\mu(b) = \mu(aa^{-1}b)$$

$$\leq \max \{ \mu(a), \mu(a^{-1}b) \}$$

$$= \max \{ \mu(a), \mu(e) \}$$

$$= \mu(a), \text{ by Lemma 3.6}$$

Thus
$$\mu(b) \le \mu(a)$$

We get
$$\mu$$
 (a) = μ (b).

Theorem3.11 Let μ be m – upper fuzzy subgroup of a m – group G. Then a $\mu_t = (a\mu)_t$ for every $a \in G$ and $t \in [0, 1]$.

Proof

Let μ be m – upper fuzzy subgroup of m – group G and let $x \in G$.

$$x \in (a\mu)_t \Leftrightarrow (a\mu)(x) \le t$$

 $\Leftrightarrow \mu (a^{-1}x) \le t$
 $\Leftrightarrow a^{-1}x \in \mu_t$
 $\Leftrightarrow x \in a \mu_t$

Thus a $\mu_t = (a\mu)_t$ for every $x \in G$.

Definition3.12 Let μ be m – upper fuzzy subgroup of a m – group G, $a \in G$ and λ be positive fuzzy set. Then the m – positive fuzzy coset ($a\mu$) $^{\lambda}$ is defined by ($a\mu$) $^{\lambda}$ (x) = $\lambda(a)\mu$ (x) for every $x \in G$.

Theorem3.13 Let μ be m – upper fuzzy subgroup of a m – group G, then the m – positive fuzzy coset $(a\mu)^{\lambda}$ is m – upper fuzzy subgroup of a m – group G, for every a $\in G$.

Proof

Let μ be m – upper fuzzy subgroup of m – group G, for every x ,y \in G we have

$$(a\mu)^{\lambda}(mxy^{-1}) = \lambda(a) \mu (mxy^{-1})$$

$$\leq \lambda(a) \max \{ \mu (x), \mu (y) \}$$

$$= \max \{ \lambda(a) \mu(x), \lambda(a) \mu(y) \}$$

$$= \max \{ (a\mu)^{\lambda}(x), (a\mu)^{\lambda}(y) \}$$

Thus $(a\mu)^{\lambda}(mxy^{-1}) \leq max\{(a\mu)^{\lambda}(x), (a\mu)^{\lambda}(y)\}$, therefore $(a\mu)^{\lambda}$ is m-upper fuzzy subgroup of a m-group G.

Corollary3.14 Let λ be positive fuzzy set and μ be m – upper normal fuzzy subgroup of a m – group G, then the m – positive fuzzy coset ($a\mu$) $^{\lambda}$ is m – upper normal fuzzy subgroup of a m – group G, for every $a \in G$.

Corollary3.15 Let μ , δ be m – upper fuzzy subgroups of a m – group G and λ be positive fuzzy set. Then for all a $\in G$

$$(a\mu)^{\lambda} \subseteq (a\delta)^{\lambda} \text{ iff } \mu \subseteq \delta.$$

$$(a\mu)^{\lambda} = (a\delta)^{\lambda} \text{ iff } \mu = \delta.$$

Definition3.16 Let μ be m – upper fuzzy subgroup of a m – group G. Then for $a,b\in G$ the m – double fuzzy coset $a\mu b$ of G is defined by

$$(a\mu b)(x) = \mu (a^{-1}xb^{-1})$$
 for every $x \in G$.

Theorem3.17 If μ is an m – upper fuzzy subgroup of a m – group G. Then for any $a \in G$ the m – double fuzzy coset $a\mu a^{-1}$ of G is also m – upper fuzzy subgroup of G.

Proof

Let μ be m – upper fuzzy subgroup of m – group G and $a \in G$, let $x, y \in G$. Then

$$(a\mu a^{-1}) (mxy^{-1}) = \mu (ma^{-1}xy^{-1}a)$$

$$= \mu (ma^{-1}xaa^{-1}y^{-1}a)$$

$$= \mu (m(a^{-1}xa)(a^{-1}y^{-1}a))$$

$$\leq max \{\mu(a^{-1}xa), \mu (a^{-1}ya)^{-1}\}$$

$$\leq max \{\mu(a^{-1}xa), \mu (a^{-1}ya)\}$$

Since μ is m – upper fuzzy subgroup, then = max $\{(a\mu a^{-1})(x), (a\mu a^{-1})(y)\}$

Thus $(a\mu a^{-1})(mxy^{-1}) \le max \{(a\mu a^{-1})(x), (a\mu a^{-1})(y)\}.$

Therefore $a\mu a^{-1}$ is m – upper fuzzy subgroup of a m – group G.

Corollary3.18 If μ is m – upper normal fuzzy subgroup of a m – group G. Then for any $a \in G$, the m – double fuzzy coset $a\mu a^{-1}$ of G is also m – upper normal fuzzy subgroup of G.

Theorem3.19 Let μ be m – upper fuzzy subgroup of a m – group G and $a\mu a^{-1}$ be m – double fuzzy coset of G. Then $O(a\mu a^{-1}) = O(\mu)$ for any $a \in G$.

Proof

Let μ be m – upper fuzzy subgroup of m – group G and $a \in G$. By Theorem 3.17, the m – double fuzzy coset $a\mu a^{-1}$ is m – upper fuzzy subgroup of G also by the Definition 3.16 we have $(a\mu a^{-1})(x) = \mu$ ($a^{-1}xa$), for every $x \in G$. Then for any $a \in G$, μ and $a\mu a^{-1}$ are m – conjugate upper fuzzy subgroup of m – group G as there exist $a \in G$ such that $(a\mu a^{-1})(x) = \mu$ ($a^{-1}xa$) for every x by Proposition3.3 O $(a\mu a^{-1}) = O(\mu)$ for any $a \in G$.

Definition3.20 Let μ , δ be two m – upper fuzzy subgroups of m – group G. And λ be a positive fuzzy set, then for $a \in G$ we define the m – positive double fuzzy coset $(\mu \ a \ \delta)^{\lambda}$ by :-

$$(\mu a \delta)^{\lambda} = \max \{(a\mu)^{\lambda}, (a\delta)^{\lambda}\}$$

Theorem3.21 The m – positive double fuzzy coset (μ a δ) $^{\lambda}$ is m – upper fuzzy subgroup of m – group G, when μ , δ are m – upper fuzzy subgroups of G.

Proof

```
For every x, y \in G, we have  (\mu \ a \ \delta)^{\lambda} (mxy^{-1}) 
= max \{ (a\mu)^{\lambda} (mxy^{-1}), (a\delta)^{\lambda} (mxy^{-1}) \} 
= max \{ \lambda(a)\mu(mxy^{-1}), \lambda(a)\delta(mxy^{-1}) \} 
\leq \lambda(a) max \{ max \{ \mu(x), \mu(y) \}, max \{ \delta(x), \delta(y) \} \} 
= \lambda(a) max \{ max \{ \mu(x), \delta(x), \mu(y), \delta(y) \} \} 
= \lambda(a) max \{ max \{ \mu(x), \delta(x) \}, max \{ \mu(y), \delta(y) \} \} 
= max \{ \lambda(a) max \{ \mu(x), \delta(x) \}, 
\lambda(a) max \{ \mu(y), \delta(y) \} \} 
= max \{ (\mu \ a \ \delta)^{\lambda} (x), (\mu \ a \ \delta)^{\lambda} (y) \} 
Thus (\mu \ a \ \delta)^{\lambda} (mxy^{-1}) \leq max \{ (\mu \ a \ \delta)^{\lambda} (x), (\mu \ a \ \delta)^{\lambda} (y) \} 
Hence (\mu \ a \ \delta)^{\lambda} is m - \text{upper fuzzy subgroup of } m - \text{group } G.
```

Corollary3.22 If μ , δ are m – upper normal fuzzy subgroups of m – groups G. Then the m – positive double fuzzy coset (μ a δ) $^{\lambda}$ is m – upper normal fuzzy subgroup of G.

References

- [1] Aktas. H and Cagman. N, "Generalized Product of Fuzzy Subgroups and t Level Subgroups", Mathematical Communications.11, 121-128, (2006).
- [2] Aktas. H, "On Fuzzy Relation and Fuzzy Quotient Groups", International Journal of Computational Cognition. 2, 71 79, (2004).
- [3] A. Sheik Abdullah and K. Jeyaraman, "Anti Homomorphism in Fuzzy Subgroups", International Journal of Computer Applications. 12, 24-27, (2010).

- [4] A. Solairaju and R. Nagarajan," A New Structure and Constructions of Q Fuzzy Groups", Advances in Fuzzy Mathematics. 4, 23 -29, (2009)
- [5] Jacobson. N," Lectures in Abstract Algebra", (1951) East West Press.
- [6] Jeyaraman.K and Sheik Abdullah.A, "The Homomorphism and Anti Homomorphism of Level Subgroups of Fuzzy Subgroups", International Journal of Mathematical Forum. 5, 2293 2298 (2010).
- [7] Kumar. I.J., P.K.Saxena and Pratibha Yadava, "Fuzzy Normal Subgroup and Fuzzy Quotients", Fuzzy Sets and Systems. 46, 121-132, (1992).
- [8] Muthuraj. R, Rajinikannan. M and Muthurauan.M.S, "The M-Homomorphism and M Anti Homomorphism of an M Fuzzy Subgroups and its Level M Subgroups", International Journal of Computer Applications. 2, 66 70, (2010).
- [9] Nagarajan. R and Solairaju. A, "Some Structure Properties of Upper Q Fuzzy Index Order With Upper Q Fuzzy Subgroups", Int.J. of Open Problem in Mathematics and Applications. 1, 21-29, (2011).
- [10] Palaniappan. N and Mathuraj. R, "The Homomorphism, Anti- Homomorphism of a Fuzzy and Anti Fuzzy Groups", Varshmihir Journal of Mathematical Sciences. 4, 387 399, (2004).
- [11] Raden Sulaiman and Abd Ghafur Ahmad, "The Number of Fuzzy Subgroups of Finite Cyclic Gorups", International Mathematical Forum. 6, 987 994, (2011).
- [12] Raden Sulaiman and Abd Ghafur Ahmad, "Counting Fuzzy Subgroups Of Symmetric Groups S_2 , S_3 and Alternating Group A_4 ", Journal of Quality Measurement and Analysis (JQMA). 6, 57 63, (2010).
- [13] Rosenfeld, A., "Fuzzy Groups", J. Math. Anal. Appl. 35, 512 353, (1971).
- [14] Tarnauceanu. M and Bentea. L, "On the Number of Fuzzy of Fuzzy Subgroups of Finite Abelian Groups", Fuzzy Sets and Systems. 159, 1084 1096, (2008).
- [15] Wanging Wu, "Normal Fuzzy Subgroups", Fuzzy Math. 1, 21 30, (1981).
- [16] Zadeh, L.A., "Fuzzy Sets" Inform. And Control. 8, 338 353, (1965).